FS A Serial No.

JTUAT SFTHHTH A ST H ‘
it & or o T-eehT et
WETH A
et &1 ay ; 2012
AT eI UE - g GENERAL STUDIES &
QETT qleg TRT0T GENERALAPTITUDE TEST
[ ;02 T Time : 02 Hours
Tl'i‘ab‘ : 150 Maximum Marks : 150
U9 % ST 4 | UEet Ao ford Saon &t A A ug et |
weaqut e

1. UeA-GRETehT % FeR UST OX 3TeT 3T Fel o F A ford |

2. | Ul & HFH T E |

3. A et oo  fordit HeRR 3ht hiE ST AT A2ATCHe: TR hi < &l af T9e o STt ol feal Sur=ei | &
ST TR Sl AT HHT ST |

4. el U FTHAE, T Tel Uv-GRaht St RIS i HIST WEI-TE B, SA=AT IT-USH BT
T e fohaT ST Y 36t et W snvaferdt 1 gt |

5. et TF T ¥ U9 YRAT (FHeie) & o W 43 T U5t T SUERT B | SeRT | afh T e
U & I AR |

6. 39 UTA-URHT | g1 uIT § 150 3gerd (UeH) € fad amtl (@ o) § 100 U9 a9
HRT-II (AT Fheg TRIET0T) | 50 U9 & | TAF 3T2eH o IR dehicqeh TR 31ged & A 5 T & |
T ORI 9 Shael T &1 ¥l ST & | ST ST i 319 et a1 Fed 3fod GHerd €, STR-U9 (375K 31i2)
H 3T 3T ATCT I I BT ST Hiet Aiet WIge U= | T HIeT BT |

7. T Ul (3TMEZAT) 1 SR (GAT ST & 3T Udeh U9 (3T1geH) o qAM 37 € | 3110eh ST ST Tel &l
31 % AR 3 53 S |

8. 3TN §IT SIS St ST STt S-S WhfeT bl TRIeTI3T | Fe0TeHeh Goaiish (Negative Marking) 9gTd
ST ST | SEGER gRT Wedish U9 & fefl f§T 70 TTetd ST % foTT a1 SHHIgaR 51T Ush U9 & Ush
T 31y IR 3 & FoT (T ST T ST ° | U el & /i A &), 3 W9 % o iU ST oot 3ient
T TS U & T § H1eT ST | U TET YT 37t o F1T Sl Fot UTdih § F FT& SIa |

9. 379 3T NI 7T H 53 T2 ST H 3iTehed i & | ATahT AU i 3T shael IT-Ueh T
AT | SR-ITH & AN 217 Fel U {537 T ST =T 1 A |

10. IT-UFF R F foTe & I8 3T 5 T @t SN Bl AHIes U o | ST Gorr SO Jifsd &
S I WA |

11, ORIET HHT o SR ST=IL1eTeh bl ST oI AT < |

12. AT 9 T SR I U o &, 37 IS WX 37T SFhHIh 3iTchd Y (9T & 3R STR-Ih WX At
o WX E, A TS T ST L STel ek 3TTIehT T9-GRAeh Giet i =&l el ST |

G d% o Hel W 36 UT-YRAHT St 7 @iel |
HETEqUT . UI-RAEHT WieH WX qOT AT HY 39 o o Ue-gfaent & |t Ut welt-wifa o9 gu ¥ | afy

WY-URasT § Hig HH & At ARieTh Bl e St §iRiS # gERt we-gReet T w e |
FSA-IN




PART-I

GENERAL STUDIES
1.  “Yav’ frequently mentioned in Rigveda stands for
(@ Rice (b) Beans
(c) Barley (d) Wheat
2. Which one of the scheduled tribes did not originally live in Uttarakhand ?
(@ Boxa (b) Bhotia
() Meena (d) Tharu
3. The city which is called financial capital of India is
(@) Bangalore (b) Delhi
(¢) Hyderabad (d) Mumbai
4.  The value added tax adopted by many States replaced
(@ Custom Duty (b) Excise Duty
(c) Sales Tax (d) Service Tax

5. Zero Hour in the Indian Parliament starts at
(@  First hour of the sitting (b) Last hour of the sitting
(c) Exactly 12:00 noon (d) No fixed time

6.  Who among the following can be removed from the office without impeachment ?
(@) President of India
(b) Chief Justice of India
(c) Governor of a State
(d) Chief Election Commissioner

7. One of the following is not an example of Direct Tax :
(@ Income Tax (b) Wealth Tax
(c) Capital Gain Tax (d) Value Added Tax

8.  Match the Table — I with Table — Il and select the correct option :
Table -1 Table - 11

A. 4" Five Year Plan 1. 1997 -2002

B. 7" Five Year Plan 2. 1956 - 1961

C. 9" Five Year Plan 3. 1969-1974

D. 2" Five Year Plan 4. 1985-1990
A B C D

@ 4 1 2

M 3 4 1 2

c) 3 4 2 1

@ 4 2 1 3
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AT EFIqq
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) st (d) &
2. ¥R G srgiad SHST Joid: STRIEve § Hary T8t st o 2
(a) s (b) afeam
(c) diom d) o=
3. O I S WRA Bl A AT FHEeATd &
(@) SR (b) feeed
(€) evEE (d) T=r
4.  FE TSAERT YA T God Fafea T+ Uit fohar &
(a) & I w (b) 3R YoH H
(c) fowpt T =l (d) I B

5.  YRAE GUE § I HIA I BT €
(a) 9 F e T W
(b) SFH F AH T W
(c) 3 12.00 IST (eATE)
(d) =g Hivad a9F T@ F |

6. fAfciied & @ e HeIfvaiT & fomT g & gemar ST oehar & 2
(d) WRA I I (b) IR T T AT
(c) TU (d) v Faree s

7. T 9 9 S UHeT H A ISR T

@ = (b) "I
(c) USTTe T (d) T Hatgd &
8.  fcTehI-1 U TIfeTahl-11 St GG SHITT e Tl foshed T FATE Ty |
AfeTenT-I AfABT-II
A, il dEeEE FeET 1. 1997-2002
B. ddl YEEEE AT 2. 1956-1961
C. o Ygaug I 3. 1969-1974
D. &I UgeNE IS 4. 1985-1990
A B C D
@ 4 3 1 2
) 3 4 1 2
(c) 3 4 2 1
@ 4 2 1 3
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10.

11.

12.

13.

14.

15.

16.

‘Aam Aadmi Bima Yojna’ provides social security to

(@ All labourers in rural areas

(b)  All landless households, living below poverty line in rural areas
(c) All labourers in urban areas

(d) All labourers in both rural and urban areas

Who amongst the following was an astronomer ?
(@) Aryabhatta (b) Ashwaghosh
(c) Dandin (d) Dignagacharya

India’s second permanent station at Antarctica is called
(@) Dakshin Gangotri (b) Maitree
(c) Chakra (d) Swetha

One among the following is capital of Meghalaya State :
(@ Shillong (b) Imphal
(c) Dispur (d) Aizawl

World Environment Day is celebrated on
(@ June 15 (b) July 10
() Juneb (d) December 8

The city that hosted 2012 Olympic Games is
(@ Delhi (b) New York
() London (d) Paris

World Population Day is celebrated on
(@ May3l (b) October 4
(c) December 10 (d) July11

Match the following :
List—1 List— 11

A.  Swami Agnivesh 1. Advocate

B.  Prashant Bhushan 2. Judge

C. Kiran Bedi 3. Social Worker

D. Santosh Hegde 4.  Former Police Officer
A B C D

@ 1 2 3 4

(b) 1 3 2 4

(¢ 3 4 1 2

d 3 1 4 2
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10.

11.

12.

13.

14.

15.

16.
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(a) TITEIOT & o Tt sifieRt 6

(b)  TTEIOT &5 W T aret 39 |edt YiER SRt S TRis T g A
(c) el &= o |edt iRl |

(d) o7 we P & o Tl AfHeR i |

= 4 9 T T o 2
(a) omEvE (b) TEET
(c) =vet (d) fesmmEr
AR & JeRiesh § fgdia Tl o STHT S &
(a) sferor TS @ (b)y T
€ = d) vad
11 9 9 U DETerd TS i ST €
(a) T (b) SFEET
(c) feog (d) s
forver gaTeroT fea w=mEn SIen &
(8) S 15 (b) STTE 10 =
(€) SET S (d) fewav s =
& I TS0 2012 3NATTF Tl bl ASTa= T i
@) feoett (b) =R
() w=a (d) Ui
fova STgE oo 7 S
(a) W31 H (b) TR 4 HI
(c) fegwmw 10 (d) oS 11
GAfAd HIfTT

-1 -1
A. @ e 1. 3TRyEeEr
B.  URINT ool 2. =T
C. fwurssr 3.  WHI® HEEHA
D. o<y &Te 4. Y QT Ry

A B C D
@ 1 2 3 4
(b) 1 3 2 4
(c) 3 4 1 2
@ 3 1 4 2
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17. The biggest Indoor Stadium in India is

Netaji Stadium, Kolkata

Indira Gandhi Indoor Stadium, New Delhi
Bharti Stadium, Cuttack

(@)
(b)
(©)
(d)

18. Whose birthday is celebrated as ‘Sadhbhavna Divas’ ?
Indira Gandhi

(@)
(b)
(©
(d)

19. Match the following :

OO w>»

(@)
(b)
(©)
(d)

20. The actual name of Anna Hazare is
Kisana Babu Hazare

Krishna Bapat Hazare

Kisan Baburao Hazare
Krishna Bhai Hazare

(@)
(b)
(©)
(d)

None of the above

Rajiv Gandhi

Mahatma Gandhi
Sanjay Gandhi

List -1

National Youth Day
National Science Day
National Vaccination Day
National Maritime Day

B

P P > W P>
NN W b~

C

A WER PR

D

w B~ DNDNDN

January 12
February 28

21. The Woman General Secretary of SAARC, elected in January 2011 comes from country,
which is

(@)
©)

22. With which of the following is the word ‘Genome’ associated ?
Endocrine glands

Genes of an organism

Disease of lungs

Digestive-juice

(@)
(b)
(©)
(d)

Series-A
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18.

19.

20.

21.

22.
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(b) 3F=x et STeR wfemm, 72 fewelt
(c) 9Rdr Wieaw, Hew

(d) ST A I HE &l

TohereT ST fod “TEHTeAT e’ & &9 | 7™l SR 6 2
(@) ey el
(b) i Tireh
(c) T T
(d) o TR

GAfAd HifeTT

-1 -1
A T e fgag STHERT 12
B. U=H fose fgag Tl 28
C. U IHao Gad
D

g 16
T AR faw 3T 5
A B C

M w e

(©)
(d)

~—~
(=)
N
N Y
NN WS
N
whAMNMODNMDO

3T &I ST ATteres 19 &
(a) Tore a9 =)

(b) P ST B

(c) fore s &=k
(d) FUAE TR

SRt 2011 | =AM T8 I HigeT Ferarad 9 39 9§, 98 &
(a) et (b) e
(c) wreRE d) E=

= 9 forad ST v gt € 2
(a) F=.@Er uieE
(b) SEFSHI
(c) wweIHITH
(d) T=HFEE
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23.

24,

25.

26.

27.

28.

29.

The town where, Osama Bin Laden was killed by American Seal Commando is :
(@ Jacobabad (b) Faislabad
(c) Abbottabad (d) Islamabad

The *Uttaranchal’ State was renamed ‘Uttarakhand’ in the year
(@) 2000 (b) 2004
(c) 2007 (d) 2010

‘British Garhwal’ until India’s Independence in 1947 had which of the following regions ?

1. Pauri

2. Chamoli

3. Rudraprayag (partly)
4.  Tehri

5. Uttarkashi

@ 1,2and3

(b) 2,3and4

(c) 3,4and5

(d 4,5and1

The copper city of Uttarakhand is
(@ Almora (b)  Uttarkashi
() Rudrapur (d) Pauri

Kumaon Regiment was established in the year
(@) 1936 (b) 1940
(c) 1945 (d) 1918

In which of the following periods Garhwal was ruled by Gurkhas ?
(@ Year 1600 to 1715
(b) Year 1600 to 1668
(c) Year 1800 to 1947
(d) Year 1804 to 1815

The person who was famous as Garh Kesari.
(@ Anusuya Prasad Bahuguna

(b) Govind Ballabh Pant

(c) Jodha Singh Negi

(d) Mukandi Lal
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(d) T et
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30. The first political clan to rule Uttarakhand was
(@ Parmar (b) Katyuri
(¢) Kunind (d) Gorkha

31. With which of the following objectives was Praja Mandal established in Dehradun ?
(@) To get freedom from British Rule
(b) To get freedom from Gorkha Rule
(c) To organise people for social work
(d) To get freedom for the people of Tehri Gadhwal State from the rule of King of Tehri

32.  Which of the following plants is the source of Heroin (a narcotic drug) ?
(@ Hemp (b) Ephedra
(c) Poppy (d) Rose

33. Till the creation of separate Garhwal Division, district Dehradun was a part of one of the
following divisions :

(@ Kumaon Division

(b) Saharanpur Division
(c) Meerut Division

(d) Uttarakhand Division

34. One of the following Prime Ministers first made the declaration of Uttarakhand State :
(@  Inder Kumar Gujral
(b) H.D. Devegowda
(c) A.B. Vajpayee
(d) P.V.Narasimha Rao

35. One of the following statements regarding Uttarakhand is not true :
(a) Itis the 27" State of India.
(b) Its legislature is unicameral.
(c) It has been divided into 95 blocks and 78 tehsils.
(d) Its Legislative Assembly has 75 members.

36. Tehri State was merged in the Indian Union in the year
(@) 1920 (b) 1932
(c) 1949 (d) 2000

37. Almora Gazetteer was written by
(@ E.T. Atkinson (b) L.D.Joshi
(c) H.G.Walton (d) E.S.Oakley

Series-A 10 FSA
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38.

30.

40.

41.

42.

43.

44,

45.

One of the following is not included in ‘Char Dham’ in Uttarakhand :
(@) Badrinath

(b) Kedarnath

(¢) Rudranath

(d) Gangotri

‘Nanda Rajjat’ is celebrated after a interval of
(@ 4years (b) 6 years
(c) 12years (d) 14 years

The highest situated temple in Uttarakhand is
(@ Gangotri

(b) Haridwar Ganga Mandir

(c) Guptakashi

(d) Tungnath

One among the following is not included in Panch Prayag :
(@ Deo Prayag

(b) Rudraprayag

(c) Karnaprayag

(d) Sonprayag

‘Bagwaal’ the famous stone battle is played at
(@) Dwarahat Fair

(b) Gananath Fair

(c) Devidhura Fair

(d) Nandadevi Fair

Uttarakhand Open University is situated at
(@ Haldwani (b) Dehradun
(c) Nainital (d) Srinagar

The place, where Nandadevi festival started first time in Uttarakhand is
(@ Nainital (b) Almora
(c) Bhowali (d) Ranikhet

The initiator of Chipko Movement in Uttarakhand was
(@ Gaura Devi

(b) SarlaBen

(c) Radha Bhatt

(d) Teelu Rauteli
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46.

47.

48.

49.

50.

51.

52.

One of the following is not a tribe of Uttarakhand :
(@) Bhotia (b) Tharu
(c) Boksa (d) Naga

The language of the ‘Megha Aa’ is
(@ Haryanvi

(b) Bengali
(¢) Kumauni
(d) Garhwali

The “Two Lane Himalayan Highway” is being constructed connecting places of
(@) Askot with Arakot

(b) Pithoragarh with Uttarkashi

(¢)  Tiuni with Lohaghat

(d) Askot with Hanol

One set of the following National Highways comes under the territory of Uttarakhand :
(@) 52,52(A)and 153

(b) 64,65and 71

(c) 58,72and 74

(d) 86,87 and91

The first Governor of Uttarakhand (Uttaranchal) State was
(@ Margratt Alva

(b)  Surjeet Singh Barnala

(c) B.L.Joshi

(d) Sudarshan Agarwal

The new department established in Uttarakhand Government in the year 2011 is the
department of

(@ Good governance, corruption eradication and public services
(b)  Fisheries

(c) Youth welfare

(d) Sports

One among the following was instrumental in preventing destruction of forests as
‘Commissioner of Hills™ :

(@ Ramsay (b) Clive
(c) Cornwallis (d) Wheeler
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53. The Chief Minister of Uttarakhand announced on 15" August 2011 the creation of four
new districts. Which among the following is one of those districts ?

(a) Ram Nagar (b) Kashipur
(c) Didihat (d) Chakrata

54. Wadia Institute of Uttarakhand carries research work on
() Water conservation
(b)  Air pollution
(c) Geological surveys
(d) Natural disaster management

55. Govind Ballabh Pant Institute for Himalayan Environment and Development is situated at
(@) Pithoragarh
(b) Kotdwar
(c) Kosi-Katarmal
(d) Rudrapur

56. The State animal of Uttarakhand is
(@ Lion
(b) Leopard
(c) Elephant
(d) Kasturi Mrig

57.  Which one among the following is not situated in Uttarakhand ?
(@) Bharat Heavy Electricals Ltd.
(b) Hindustan Machine Tools
(c) IDPL
(d) Hindustan Aeronautics Ltd.

58. When was RTI (Right to Information) Act implemented ?
(@) 2002 (b) 2005
(c) 2009 (d) 2010

59. Watershed Management can successfully prevent
(@ Flood in plains
(b) Loss of hydro-energy
(c) Deforestation
(d) Water-borne diseases

60. Which of the following trees, is chief source of resin in Uttarakhand ?
(@ Toon (b) Rosewood
(c) Pine tree (d) Oak
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o4,

55.

56.

57.

58.

59.

60.
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61.

62.

63.

64.

65.

66.

67.

68.

Nandadevi Biosphere Reserve is spread over three districts. These are
(@ Chamoli, Pithoragarh and Bageshwar

(b) Chamoli, Rudraprayag and Bageshwar

(¢) Chamoli, Pauri and Bageshwar

(d) Chamoli, Pithoragarh and Almora

Which of the following are primary colours ?
(@) Blue, Green, Yellow

(b) Red, Blue and Green

(c) Red, Black and Green

(d) Green, White, Black

Cause of “‘Goitre’ is due to deficiency of
(@ Vitamin-D

(b) lodine

(c) Nicotinic Acid

(d) Haemoglobin

From which part of the plants turmeric is obtained ?
(@ Root (b) Stem
(c) Leaf (d) Flower

Judicial Academy of India is located at
(@ Chennai (b) Nagpur
(¢) Indore (d) Bhopal

On which of the following basis can computers be classified ?
(@) Operating principles

(b)  Applications

(c) Size and capability

(d) All of the above

Which of the following absorbs ultraviolet rays coming from Sun ?
(@) Carbon-di-oxide

(b) Water vapour

(c) Ozone layer

(d) Oxygen gas

The smallest unit of information in binary system is
(@ Bit (b) Byte
(c) Word (d) Kilobyte
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62.

63.

64.

65.

66.

67.

68.

FSA

T 2 SiaHvEt Te diF el § o & 14 &
(a) T, UdReTE Ua Srivay

(b) =R, TETEN T IR

(c) THIeH, el Ud anTeR

(d) =i, e ue et

= 9 @y ST | € 0
(a) e, &, dren

(b) e, Fem 3R B

(c) e, e @ 80

(d) &, 9%g, FHe

T I feR ST o HROT Bl § 2
(a) Toefg=-St

(b) TEEH

(c) Tepifele et

(d) et

et & T el T gost W i ST & 9
(@ < (b)
(c) U= (d) T

TR I =T 3Teheer feord &
@ o=EH (b) TR H
(c) 3=RH (d) et o

=7 § 9 fFg YR WX HPeR il ITehRoT fehaT ST Tehell € 2
(a) UR=ETeH ST

(b) aw

(c) SPR ug &HaT

d) s o

=7 5§ 9 GF T T STl WRISTHT [H0T T STaRnid T € 2
(8) THIEH-STE-SRIATES

(b) STeT AT

(c) oI WA

(d) siRdeA

AR feeen | FeT B GeIaH TS el &
() fo (b) =mE
) =< (d) forel e
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69.

70.

71.

72.

73.

74.

75.

COBOL language is used in
(@) Business

(b) Mathematics

(c) Education of children
(d) None of the above

Errors in computer programmes are called
(@ Follies (b) Mistake
(c) Bugs (d Spam

Which of these is not a social network ?

(@) ORKUT

(b) FACEBOOK
(©) PARAM

(d) TWITTER

Which of the following is biodegradable pollutant ?
(@) DDT

(b)  Aluminium cans

() Mercuric salts

(d) Organic waste

Which Article of the Indian Constitution deals with the Fundamental Duties of Citizens ?
(@ Article 50 (b) Article 51
(c) Article 51A (d) Article 52A

India is called a “‘Republic’ because

(@ Ministers hold office during the pleasure of the President.
(b)  The Ministers are responsible to Parliament.

(c) The people of India are Sovereign.

(d) The head of the State in India (President) is an elected head.

A Bill becomes an Act when

(@ Itis passed by both the Houses.

(b) Itis passed by both the Houses and signed by the President.
(c) Itis passed by only Lok Sabha.

(d) Itis passed by only Rajya Sabha.
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IS (Cobol) ST T WG fepaT STIT &
(a) =EEEFH

(b) T &

(c) odi =i forem |

(d) S o | g Tél

FHEA Uil § Ffeal B el S €
(@)  wiferst (b) e
(c) (d)

TTH I AT IS G TR ¢ 2
(@) b

(b) o

(c) wH

(d) =

=1 5 T # T1 Ugu ST faaesw § 0
(a) =2

(b) T

() TRHRE e aun

(d) S o

TR TIT T DI T SIS AR o HifeTsh el o T € 2
(@) 3T 50 (b) =% 51
(c) =T S1A (d) 3FT=T 52A

IR S TR el ST & FAiTh

(a) HSNTOT ITZUTd % TR U @ 30 U R S T € |
(b) O EEE % Ui STREET e € |

(c) WRA ST T ¥ |

(d) 9RA T ALTEART T Hairtad T ¢ |

HTE [T8TH B HT WET AT & 59 T

(a) T AT FRT ARG & ST & |

(b) ST TEAT R TR & % U9ETd TSI §RT el Y 5am Ser & |
(C)  HaeT TlhTT gRT U fohaT ST & |

(d) et TST A1 FRT IR foham ST € |
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76.

77.

78.

79.

80.

81.

82.

Corporation Tax is imposed by

(@) State Government

(b) Central Government

(c) Both, Central and State Government
(d) Reserve Bank of India

For which Five Year Plan — “Self Reliance” was the main objective ?
(@ Third Five Year Plan
(b) Fifth Five Year Plan
(c) Sixth Five Year Plan
(d) Ninth Five Year Plan

When was the Constitution of India adopted by the Constituent Assembly ?
(@ January 26, 1950

(b) November 26, 1949

(c) August 15, 1947

(d) December9, 1946

The First Vice-President of India was
(@ Dr. Rajendra Prasad

(b) Dr. C. Rajagopalachari

(¢) Dr.S. Radhakrishnan

(d) Dr.V.V.Giri

What can be the maximum period between two Sessions of Parliament ?
(@ 6 months

(b) 3 months

(¢) 9 months

(d) 1 month

Which one of the following has right to address the Parliament ?
(@) Attorney General of India

(b)  Chief Election Commissioner of India

(c) Chief Justice of India

(d) National Security Advisor

Which of the following plants is main source of Biodiesel ?
(@ Lantana

(b) Mustard

(c) Jatropha

(d) Kivi
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77.
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79.
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T &Y ormET S €

(@ TTWER SR

(b) HHT TWHER FRT

(c) =T Td ToF THR THT & FRT
(d) R s 3w sivear gry

= 5 9 forg aauia ST 61 % A8 STCHHRAT T 2
(a) T e AT

(b)  rerE et ST

(c) = THaF FT

(d) ot veEE FeE

Hiqe 9T 3 TR Tiae i e SO o7 2

(@) SFERI 26, 1950

(b) TEER 26, 1949

(c) 3T 15, 1947
(d) RE=R9, 1946

TR & T ST &
(a) =i I TR

(b) . I, TSR
(c) i TH. qUHw
(d) =i e

TOT & T A9l & qeg Afyehdy 37afy o1 & Fehdl & 2
@ e6T®

(b) 3T®

(c) 9T®

d 19®

frefefad o @ ford Tos 1 AT e T TR I & 2
(a) ¥RA % FEATAEg &

(b) R & A TS G HI

(C) WIRA % q&A AT i

(d) LT G TARHR i

=1 § ¥ SIF 91 URY SATSisTeT S 9T 9 € 2
(@) =T
(b) wwai
(c) S

X

d)
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83. “Woods Despatch” is related to
(@ Education (b) Parliamentary Reforms
(c) Economic Reforms (d) Judicial Reforms
84. The last Governor General of India was
(@ Lord Linlithgo (b) C. Rajagopalachari
(c) Lord Rippon (d) Lord Mountbatten
85. The First War of India’s Independence was fought in 1857 under the leadership of
(@ Mughal Emperor Bahadur Shah Zafar
(b)  Subhash Chandra Bose
(c) Lala Lajpat Rai
(d) Mahatma Gandhi
86. Which of the following is the newest country in the world ?
(@ Khartoum (b) Syria
(c) Libya (d) South Sudan
87. Which layer of atmosphere reflects radio waves ?
(@) lonosphere (b) Ozone layer
(c)  Water vapours (d) Nitrogen gas layers
88. The founder of ‘Brahma Samaj’ was
(@ Swami Vivekanand (b) Swami Shradhanand
(c) Swami Dayanand (d) Raja Ram Mohan Roy
89. Which one amongst the following poets, was a Krishna devoted poet ?
(@ Kabir (b) Raskhan
(c) Raheem (d) Tulsidas
90. In which of the following stages of silkworm, silk is secreted ?
(@) Egg (b)  Pupa
(c) Larva (d) Adult
91. Jain religion spread in India during the reign of
(@) Chandragupta Maurya
(b) Chandragupta Vikramaditya
(c) Harshavardhana
(d) Samudragupta
Series-A 24

FSA



83.

84.
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86.

87.
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89.

90.
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(@) Reremd (b) o g &
(c) ik QuRl & (d) =T guri &
qRA &l 3T TR T &1

(a) e fomtererT (b) . TSTIITETERY
(c) e R (d) diiE AS=seA

TR T T W=l G 1857 § 519k e § gl 747
(2) TTCT SAREE FRTGY A TR

(b) I T AF

(c) ATl AT T

(d) e Tieh

=1 & @ i forve 1 T 39 & 2

(a) WRH (b) R

(c) it (d) sferr gem
AGHUSH Dl DI T I IedT T BT WIS FHAl & 2

(@) T HUSA (b) TSH WA
(c) STt e (d) e T WA
“STeT TENT & G o

() Tt fgasE= (b) T FFET
(c) @M A= (d) ST TEEES T
e ot o & P HT IR BT & 2

(@) ek (b) TEEm

) @ (d) qomiEE
WA FE & 7 T O T eteen § W9W &1 A g € 2

(a) 3 (b) =

(c) ©mRar (d) =&

TR | 5 91 519 It | el

(@) =T =i

(b) T R

(c) EuaEA

(d) ¥
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92.  Whom did Mahatma Gandhi considered his Political Guru ?
(@) Lala Lajpat Rai
(b) Bal Gangadhar Tilak
(c) Gopal Krishna Gokhale
(d) Dadabhai Naoroji

93. ‘Chauth’ was a tax collected by

(@ Mughals (b) Sikhs
(c) Marathas (d) Afghans
94. The famous Iron Pillar at Mehrauli (Delhi) contains the name of
(@) Harsha (b) Chandragupta
(c) Chandra (d) Gautamiputra
95.  Which one of the following pairs is not correctly matched ?
River City
(@ Gomati Lucknow
(b) Saryu Ayodhya
(c) Alaknanda Badrinath
(d) Narmada Satna

96. Which one of the following planets takes the least time in revolving around the Sun ?
(@ Jupiter (b) Venus
(c) Earth (d) Mercury

97. In which of the following days, all places on the Earth experience 12 hours of day and 12
hours of night ?

(@ May?21 (b) March 21

(c) June 22 (d) December 22
98. Lakshadweep islands are situated in

(@ Indian Ocean (b) Arabian Sea

(c) Bay of Bengal (d) Pacific Ocean

99. When we go from Earth to the Moon
(@ Mass changes
(b) Mass and weight both change
(c) Mass remains the same but weight changes
(d) Neither mass nor weight change

100. Which one of the following States does not have international border with Bangladesh ?
(@ Meghalaya (b)  Manipur
(c) Mizoram (d) Tripura
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94.

95.
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97.
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TETeT T fohd 37T e 16 A & 2

(@) ATl AT T (b)  aTeT TR feTeh
(C)  TIUTCTHT et (d) =TETTS RIS
“Ter’ Tk Y AT T agerd o

(@ HT (b) foorm

() = (d) &=

Teielt (o) e i oife wawT 1 1 3ifeed

(a) T H (b) T T
(c) ==& (d) T
=1 STrgt 5 ¥ & 91 Siiel gafed el ¢ 2

&t I
(a) T GIECED
(b)) =1 e
(c) FcAFI=T EHEI)
(d) =T T
=1 7T § @ B 91 G o URGRHT § Gl HH TG oIl € 2
(@) el (b) T®
(c) g (d) ==
fefetad o F fova o gealt o Tft T 12 €5 &1 {59 e 12 6 i T 39 X & 2
@ w21 (b) =21
() SE22 (d) TE=R22
AT 5T TE ferd &
(@) f&= T | (b) owE TR H
(c) =TT Bt el ® (d) TR TR
e B9 JeEt § HEAT WS €

(a) AT ITA ST € |

(b) FEHM TN R AT 987 AT & |

(C) F9M FEl Wl & W AR 5t AT & |
(d) = 5= 3K 7 & IR 98erd ¢ |

frferfiaa o=t & @ fopdent STTeTe e ¥ RIS AT e € 2
(a) e (b) o
(c) fHsiRm (d) P
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101.

102.

103.

104.

105.

106.

PART-II
GENERAL APTITUDE TEST

There are four numbers. The product of first three is 385 and that of last three is 1001. The
first and fourth numbers are

(@) 5,13 (b) 5,11
(c 7,11 (d) 7,13

The difference between the circumference and radius of a circle is 37 cm. The radius of
the circle is

(@ 44cm (b) 30cm
(c) 1l4cm (d 7cm

One term in the following series is wrong. Find it out.
5,12, 19, 33,47, 75, 104

(@) 104 (b)y 47
(c) 75 (d)y 33

The missing number in the following series

4,9, 25, 1121, 169, 289, 361 i
@ 64 (b) 49
€ o1 d) 89

: : : . 1
A train starts from station A with some passengers. At station B, Eth get down and 100

: . . : 1
got in. At station C, 50% get down and 25 got in. At station D, Eof the passengers get

down and 50 got in. The train leaves D carrying 200 passengers. The number of
passengers boarded at station A was

(@) 300 (b) 400
(c) 600 (d) 500

The mean weight of 150 students in a certain class is 60 kgs. The mean weight of boys is
70 kgs and that of girls is 55 kgs. The number of boys in the class is

(@ 50 (b) 75
(c) 100 (d) None of these
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T hg TRA&A0T

101. ¥R TEE g€ & | VA9 A1 S ARG 385 § 7T ST A H [UM®E 1001 § | Teel 3R
@ 5,13 (b) 5,11
c 711 d 7,13

102. T I St IR ST B 6 ST 37 HAHL ¥ | I B o
(@) 44w (b) 30 &
(c) 143t (d) 79+

103. f=fefEa st & 9o 9 9 U U5 o €, ST 3T Y
5,12, 19, 33, 47, 75, 104

(a) 104 (b) 47

(c) 75 (d) 33
104. THtetEd Sof

4,9, 25, , 121, 169, 289, 361

(a) 64 (b) 49

(c) 91 (d) 89

105. U LTS F& AT B ‘A’ RIF F AR Ferdt § | ‘B’ l%mqwl—loﬂm?ﬁraﬁ%w 100

zra“raﬁTaart—lﬁ%|‘C’1%S|=rw50%3ﬁrt—nﬁ%3rw25€@ﬁ%|‘D’%%3Frq?%umwsn€r%
T 50 A 3R =g S € | g MEN F D’ TIF Bre W 200 T &, o A’ RIF W T aret
T st HE o

(@) 300 (b) 400

(c) 600 (d) 500

106. ToRET el | 150 fomnfedr o1 NEd ot 60 fHIH & | oTgehl o 3G o 70 fmum e
TetRal &l 55 R UTH & | el H oTeeh! ol G&TT &

(@ 50 (b) 75
(c) 100 (d) T8 9 @iE oFf 7
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107.

108.

109.

110.

111.

The mean weight of 29 girls in a class is 48 kgs. After adding the weight of the teacher it
increases by% kg. Then the weight of the teacher is

(@ 61Kkgs (b) 63 kgs
(c) 64.7 kgs (d) 67Kkgs
Statements :

(i)  Ajayisan artist
(it)  Artists are beautiful

On the basis of the above two statements, which one of the following conclusions is
correct logically ?

(@)  All beautiful persons are artists
(b) Ajay is beautiful
(c) Ajay is not beautiful

(d) Beautiful persons are not artists

Four bells ring at intervals of 3, 8, 12, 15 minutes. They start ringing together. They will
ring together again in

(@ 2 hours (b) 3 hours
(¢) 1hour (d) 4 hours

Ramesh is facing North-West. He turns 90° in the clockwise direction, then 180° in the
anticlockwise direction and then another 90° in the same direction. Now he will be facing
the direction

(@) East (b) South

(c) South-West (d) South-East

If “+” means ‘x’, ‘= means ‘+’, ‘+” means ‘+’ and ‘x’ means ‘-’, then the value of
16 + 64 —4 x 4 + 3 will be

(@ 12 (b) 15

(c) 20 (d)y 52
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fordll sheqt o 29 BENST I 3 9K 48 fHam & |Wwwﬁﬂaﬂﬁ@a€%%ma§rw
£ | A foreTes 1 R e

(@) 61T% 7w (b) 63 7% um
(c) 64.7 % 7w (d) 67 am
6

(i) 3T UH FABR & |

(i) THeTPR T B & |

UG I AT o SMUR W 7 § F i T7 by difcheh 3fte F I € 2
(a) T =R AT FABR & & |

(b) FETIE |

() FTAGTE |

(d) F=T Al FABR &l e |

IR et 3, 8, 12, 15 Tl & el W STt & | of Ueh Fie ST URAT At © | o I Th
[qrT S

(2 2®CH (b) 3=H
(c) 1=H (d) 4=

YT 3T-YA bl 3K He FX TSI € | 98 TSI i =Tt i 79 °§ 90° el &, e Tl Sl =1eT i
Tt faem & 180° | 37 gat fsom | 90° 3R, o1 39 U o faem it

@ W= (b) gfeor
(c) fefor-uRem (d) sfeorga

G+ T YT X7, I R AT A T AT B, 16+ 64 -4 x4+ 3
= T g

(@ 12 (b) 15
(c) 20 (d) 52
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112. A survey was conducted on a sample of 1000 persons with reference to their knowledge of
English, French and German. The result is represented in the Venn diagram.

é%&
(Venn Diagram)
&Y,

The ratio of the number of persons who do not know any language to those who know all
the three languages is

@ 7 ® o
© 7 @ 1005

113. Ram is richer than Shyam but not so rich as Sohan but poorer than Ramesh, then Shyam is
(@) Poorer than Ramesh (b) Richer than Sohan
(c) Aspoor as Sohan (d) Richer than Ramesh

114. Which one of the following is a three dimensional diagram ?
(@ Bar (b) Circle
(c) Square (d) Sphere

115. In a certain code, 15789 is written as EGKPT and 2346 is written as ALUR. How is 23549
written in that code ?

(@) ALGRT (b) ALGUT
(c) ALGTU (d) ALEUT

: : . . 1
116. The difference between two natural numbers is 3 and the sum of their reciprocals is > The

numbers are
@ x=6,y=3 (b) x=2,y=5
€ x=4y=7 d x=1y=4

117. To reach office, a person spends 65% of his time travelling by train, 10% in a bus, 15% in
waiting for the bus or the train. If he spends 10 minutes waiting at the bus stop or railway
station, how many minutes does he spend on travel by bus and train ?

(@ 1hour (b) 50 minutes
(¢) 1 hourand 15 minutes (d) 1.5hours
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1000 =TT o Teh Uiae el O¥ STUST, K] T ST |I9T o 37 o §e9 H gaeor fomar mar |
gRoTy 99 g R @@ T e |

~_—

&
&Y,

TRt STt SITST BT 1 ST STt SATRTAl BT T HTITST St ST aTel St & ST g

@ 7 ®) &
© 5 (d) %

T, T W G € W HiE A T SR @ | W, o 33 €

(a) YT (b) HET T a
(c) Wie < e d) oS e
=1 9 i 97 2 e € 0

(a) 3 (b) o

() = (d) Ten

Tt TAfeara Hehd H, 15789 i EGKPT foran Sirar & dem 2346 i ALUR. 38T Tehd H 23549 &l
fer@n s

(@ ALGRT (b) ALGUT
() ALGTU (d) ALEUT

3T WISk WEATa T % S Ws%ﬁmwwaﬁ%% | HEmt &

@ x=6,y=3 (b) x=2,y=5
© x=4y=7 d) x=1y=4

HTATTT Tga o [TU, Tk AT STIAT 65% THI 36T §T AT H, 10% o9 H, 15% 59 37T 3o &
T § i ol € | 3R 9 10 THAe 99 W0 3pan Yo7d LA W 3ae § i ol €, af
TE GRT & 41 36T ! A6 H fehe o9 o4t et € 2

(@ 1lda (b) 50 fme
(c) 1w aar 15 e (d) 15%
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118. A woman sees the photograph of a man and says “This man’s sister is my mother-in-law”.
How is woman’s husband related to the man in the photograph ?

(@)
(©)

119. Find the missing sequence

PRLN : XZTV : 1 JLFH :

(a)
(b)
(©)
(d)

120. If

‘A’ means “is greater than”
‘%’ means “is less than”

‘1" means “is equal to”

Father

Son

NRPT
NPRT
RTNP
NTRP

(b)
(d)

Grand father

Maternal Uncle

and if a L1 b and b% c, then which of the following is incorrect ?

(@)
(b)
(©)
(d)

CAD
aAb

CAa

both (a) and (c)

121. If birthday of a person falls on Monday in 1994, on what day of the week will his birthday

fall in 1995 ?
(@ Sunday
() Tuesday

122. Find the odd among the following :

(@)
(©)

Series-A

Piano

Violin

(b)
(d)

(b)
(d)

34

Monday
Wednesday

Sitar

Guitar
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Teh 3T T T6U o [ i S Fhedt ¢, “T9 [0 Sl 961 5 W § 17 3R o i A o
o T qo 9 T gy § 0

(a) o (b) =
© T (d) s

T o T Y

PRLN : XZTV ::JLFH:
(a) NRPT

(b) NPRT

(c) RTNP

(d NTRP

RIES

‘A’ I TS € UE TSR

‘%’ T AAAT § “F BT &7

‘[0 1 HAeTd ¢ “% SR &7

3R g a [ b a1 b% ¢, T 7 § T i T H9= Toid § 2
@ cAb

) aAb

(c) cAa

(d) =i (a) T (c)

IS Teh AT BT SR 1994 H THAR % &7 &I €, o 1995 H Te & g G7 T 3T
STATG T2 2

(a) aar (b) THEER
(c) W@ (d) TR
fr=fetea 5 9 foum s =L

(a) T (b) TaaR
(c) @l (d) Ter
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123.

124.

125.

Four persons of different professions (Doctor, Lawyer, Engineer and Businessman) sit on
the four seats in the same row of a theatre, each wearing a different colour shirt (Red,
Blue, White and Yellow) and drinking different soft drinks (Cocacola, Orange, Thums up
and Pepsi).

(i)  The doctor is wearing a red shirt.

(i)  The engineer is drinking Pepsi.

(iii) The businessman is sitting left most.

(iv) The person in the seat just before the right most is drinking Thums up.

(v)  The lawyer is drinking orange drink.

(vi) The person in blue shirt is drinking Pepsi.

(vii) The person in the white shirt is sitting to the right of the person in red shirt.
The businessman is drinking

(@ Thumps up (b) Cocacola

(c) Pepsi (d) Orange drink

There are three Magazines as represented by three circles. The numbers given inside and
outside are the number of people who read those magazines.

250 400

(M3) A M)
(05

20 v 200

(None) M,)

What is the number of the people who read at least two magazines ?
(@) 145 (b) 115
(c) 100 (d) 155

In a class, 70 students passed in Statistics, 50% of the students passed in Hindi, 5% of the
students passed in neither Statistics nor Hindi and 25% of the students passed in both the
subjects. What is the ratio of the number of students who passed in Hindi to that in
Statistics ?

@ 1:1 (b) 2:3

() 5:7 (d 10:9
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IR fafy= et 9 S[e &t (Fafsede, J@ie, T, ST T fa=dr gt o 9r diel
T & HAX | 9 & | @t 3 it T ol ISt (e, Aielt, T de dietl) et ge § 3R fafir
it U (ShihT ShicT, 3T, 9 377 Ue UHT) 0f W® & |

(i) Tafeheass = et I 6 HHS Tl & |

(ii) iR I d T

(iii) e geg ol AR SR ¥ |

(iv) T8 IR 3R § 2 Ut oa1 Ao o 370 0 W@ & |

(V) T ARST W @R |

(vi) et SIS TeeT SRt Ued Of @I E

(Vi) TS HHST TeT ST, AT HHS e §U ST Bl I41 X AT T |

ST 0w E
() o= 3™ (b) T T
(c) et (d) sRsu

T U € 578 o gl gRT SR T | R AR TR 77 T e, ufarehrett ®t ug At

STFTAT bl G&AT i IdTd & |

250 400

(M) ﬂ (M)

20 v 200
(T TN (M)
TY AT T ST Tt & ST 69 @ 61 S UiTehd Ued & ?

(a) 145 (b) 115
(c) 100 (d) 155

TS AT H, 70 DA Wi H 30T g, 50% BT =1 H I g, 5% DA 7 Al Wit § 3T 7
2 Te=st & 3T g 31X 25% BT T [9al § S0l gU | Hifegsh! 3] &=t 7 ST g9 aret s
T TS BT ST T & 2

(@ 1:1 (b) 2:3
() 5:7 (d 10:9
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127.

128.

129.

130.

131.

132.

If “NOIDA is written as 39658, then ‘INDIA” will be written as
(@ 63568 (b) 36568
(c) 65368 (d) 63569

A sum of money doubles itself after 3 years. In how many years will it amount to 16 times
of itself ?

(@) 16 years (b) 12 years
(c) 8years (d) 6 years

The average monthly income of a person in a family of five is ¥ 1,000. If the annual
income of one member increases by ¥ 24,000, what will be average monthly income of
each member of that family ?

(@) 2,600 (b) 1,800
(€) 2,200 (d) 1,400

If 2 jeans and 3 shirts cost ¥ 3,500 and 3 jeans and 2 shirts cost ¥ 4,000, how much does a
jean cost ?

(a) 1,500 (b) T 1,000
(c) X750 (d) 500

The sum of the age of the father and son is 4 times the age of the son. If the average age of
father and son is 28 years, what is the age of son ?

(@ 14 years (b) 16 years
(c) 18years (d) 12 years

Choose the conclusion which follows from the given statements :
Statements :

1. None but the rich can afford air-travel.

2. Some of those who travel by air become sick.

3. Some of those who become sick require treatment.

(@  Allrich persons travel by air.

(b) Those who travel by air become sick.

(c) All the rich persons become sick.

(d) All those who travel by air are rich.

A gardener plants 17956 trees in such a way that there are as many rows as there are trees
in a row. The number of trees in a row are

(@) 136 (b) 134
(c) 144 (d) 154
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126.

127.

128.

129.

130.

131.

132.

FSA

Fie ‘NOIDA’ =l 39658 & &4 H fer@r =irar &, atf ‘INDIA’ =t feran st
(a) 63568 (b) 36568
(c) 65368 (d) 63569

g G 3 a9 | T &1 ST & | fepe o | 7@ 16 T & S 2
(@) 169 (b) 1299
) 8= d) 699

U Aol & Uk UNER § Ush SAEHT i 3Ed Hifs @ T 1,000 € | afE Uk W5 i A
3 T 24,000 5 STl €, o 3@ URAR & Yedeh SAterd shi 3T JIiGeh 31 R &I 2

(@) 2,600 (b) 1,800
(©) 2,200 (d) 1,400

I 1 ST 3 A= HHSTT b1 gog T 3,500 &, 31X 1 S Tqm 31 WSt b1 god T 4,000 &, df
Tk STI=q T o T &I 2

(@ 1,500 (b) T1,000

(c) X750 (d) 500

Toem 3R G =l 3T 1 AT G Sl 37 H 4 (AR) T & | A I 9 g7 & 3 3y 28 av &,
T I I 3T FME 2

(@ 14=9 (b) 16

(c) 18ay (d 12a9

ST FTh o8 e & FHeherdl € 38 9 |

A

1. & &l afc TR &aTe AT 6 o Tl § |

2. T S &9 A HA & SR & S |

3. TS S 9IRS &, 3% A I SEwTHal gl § |
(a) ¥t TR TR FATE A FA § |

(b) S gaE AE A &, AR e S € |

(c) Tt TR TR TR & 57 € |

(d) T ST gaTE I R §, SHRE |

TS Ot 17956 U 39 YR & oTdr € foF U Uferd 9 e Ug & S+ &t dfear € | oo dfed |
() 136 (b) 134
(c) 144 (d) 154
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133.

134.

135.

136.

137.

138.

What is the number of triangles in the figure ?

(@ 18 (b) 20
(c) 24 (d 27
In alphabets, which letter is the seventh to the right of the thirteenth letter from your left ?
@ T (b) S
) U d VvV
If%:g:%, then the value ofa+ E Al is
@ 4 (b) 2
© 5 d 3
14 2x-3 X—3 )
If (E) = (%) , then the value of x is
@ O (b) 1
© 2 (d 3
In a group of cows and hens, the number of legs are 14 more than twice the number of

heads. The number of cows is
(@ 5 (b) 7
(c) 10 (d) 12

1 . . . . .
A man spends T 3,500 and saves 125% of his monthly income. His monthly income is

(@) 4,200 (b) % 4,300
(€) 4,000 (d) 3,900
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133. 3Thid | fohe Frgst € 2

(@) 18 (b) 20
(c) 24 d 27

134, STUST FUTHTCT ¥, 39 91 T aied 3R % 518 § Hiqa( 3TeR i A1 & 2

@ T (b) S

) U d V
135, %=%=%,aa“—ffcawr«r%

(@ 4 (b) 2

() 5 (d 3

14 2x -3 5 X—3
136. Zﬁi’(g) =(ﬁ) AEXH A

@ 0 (b) 1@
© 2@ (d) 3

137. AT SR YT o U GHE H, Wi ! AT (911 Bl G H I A I 14 e § | TR G
@ 5 (b) 7
(c) 10 d) 12

138. U AT T 3,500 @ HIAT & A U AIHeh 3T 12%%6{%11@?11% | 3G HIGH 3T &

(@ T4,200 (b) 4,300
(c) 4,000 (d 3,900
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139.

140.

141.

142.

143.

144.

In a forest land 5000 trees are planted and it increases every year by 2%. After 2 years,
total tree plantation will be

(@) 5108 (b) 5200
(c) 5202 (d) 5300

The following Pie Chart shows the annual agricultural yield of a certain place. If the
production is 8100 tons, then rice is

Wheat
Sugar \ 100°

80°
Rice
o Others
'40 140°
(Pie Chart)
(@ 3240 tons (b) 900 tons
(c) 4860 tons (d) None

An ore contains 14% copper. How many kg of ore are required to get 77 kg of copper ?
(@) 87.78 kg (b) 66.22 kg
(c) 1078 kg (d) 550kg

If “‘Skeleton’ is related to ‘Body’, then in the same way ‘Grammar’ is related to
(@) Sentence (b) Science
(c) Language (d) School

3 men or 5 women can finish a piece of work in 12 days. How long will 6 men and 5
women take to finish the work ?

(@ 4days (b) 10 days
(c) 15days (d) 20 days

The difference between compound interest and simple interest on ¥ 8,000/- at 5% per
annum for 3 years is

(@ %50 (b) %60
c) %61 d) %70
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139.

140.

141.

142.

143.

144,

FSA

fodl @ g § 5000 F&T TR TT & T S0 2% B X T Wiqay gig el & | 3T FTeT 915 &l i
Pl T B

(a) 5108 (b) 5200

(c) 5202 (d) 5300

=1 UE (Pie) =1 H fopdt Ffvad M &1 a1 FT Scare= fe@man @1 € | Afg Fet Sems 8100
9 & Al =reeT S 9 e

(8) 3240 A (b) 900 =

(c) 4860 = (d) =E T

T @S § el 14% €, df 77 6319 afer W 63 o foT o= @ist =nfed 2
(@) 87.78 T (b)  66.22 THT
(c) 1078 fmIm™ (d) 550 fmam™

I “ehehTed” T TFY IR 9 ¢, 1 ST ThR ‘SR o Gy &
(a) @ (b) fomme
(c) wm (d) formmer

3 SMHT 3720 5 3R Uh FF o ghS B 12 A1 H THG FX AR § | 6 EH qAT 5 SR
et 39 1 i e AT § gored 6 2

(@ 4f (b) 10%=
(c) 157 (d) 20f=

% 8000 T 5% ANtk T W 3 a9 o Tshglfeg SATST T WIHRUT SA1ST l =R &
@ %50 (b) %60
€ Zel d 70
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145.

146.

147.

148.

149.

150.

A box contains some black balls and 30 white balls. If the probability of drawing a black
ball is %th of the white ball, the number of black balls in the box is

(@) 10 (b) 12
(c) 14 (d) 15

Three athletes A, B and C start at the same time in the same direction to run round a
circular stadium. They complete a round in 45 seconds, 54 seconds and 36 seconds
respectively. After what time will they meet again at the starting point ?

(@ 600 seconds (b) 450 seconds
(c) 540 seconds (d) 360 seconds

The average of three numbers is 28. The first number is half of the second and the third
number is twice the second. The third number is

(@) 48 (b) 18
(c) 36 d) 24

An article when sold at a loss of 10% yields ¥ 25 less than when it was sold at a gain of

1 ) .
2-%. The cost of the article is

2
(@ 100 (b) 150
(c) T250 (d) <200
In a certain code ‘AWAKE’ is written as ‘ZVZJD’, then ‘FRIEND’ will be coded as
() FQHDEM (b) EQHDMC
(c) UQHDMF (d UQHDME
In which of the following sequence, the following words occur in the English dictionary ?

(i) Telegraph

(i)  Telephone

(ili) Teleprinter

(iv) Telemark

(v) Telepathy

@ (), (i), (iii), (iv), (v)
(b)  (v), (iv), (i), (ii), (i)
© (), (iv), (v), (i), (i)
(d) (i), (i), (i), (iv), (v)
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145.

146.

147.

148.

149.

150.

FSA

T T5H H T el 3T 30 TS T8 & | TFh H F Hiefl 78 HhleH Hl Wighal TS 18
TIIHaT T 2/5 f IRT & | -5k | SHIell a1 i T& &

(@ 10 (b) 12
€ 14 d 15

dF g5 A, B, C U R AN W U &l 05 9, U & ¥0g W q°1 U &l f9m § rear ey
FA T | I TH Tah AMH H HAI: 45 YhUS, 54 FHUS qT 36 YhUS oid & | oo 99g =15 o
AT Tk | URTRe g W e 2

(@) 600 9. (b) 450 @
(c) 540 9. (d) 360 9.

T TEaT T I 28 ¥ | TEel T TE ST i ST AT AR WA SET WA B A E |
e e &

(@ 48 (b) 18

© 36 d) 24

T S i 10% 2 T T2 F T 25 wﬁwﬁaﬁmﬁsﬁ%@wwéﬁ | ] T T ¢

(@ X100 (b) T 150
(c) 250 (d) 200

gt Tt dohd & ‘AWAKE’ &l ‘ZVZJID’ feran Srar &1, af ‘FRIEND? =T Hehd g1
(@ FQHDEM (b) EQHDMC
(c) UQHDMF (d) UQHDME

IS & WEeIY | HAcIRad ves [ 3TshH o 8l € 2
(i) Telegraph

(i)  Telephone

(iii) Teleprinter

(iv) Telemark

(v) Telepathy

@ (), (i), (i), (iv), (v)

(b)  (v), (iv), (i), (i), (i)

© (), (iv), (v), (i), (i)

(d) (i), (i), (i), (iv), (v)
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